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OmBEEN 22 B
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_16_




A Ee2E s
B BO|U 2E U B2 (SUBB/SHUBZUY)
el 20| == EER=E)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
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= 2,500
i 237,823
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50,000,000 50,000
OgdEdiZ &= EH
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401 AIEHIZL R OHYI 15,000 15,000
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EFA ARUEH 22t 113,173 113,173
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OSEA ARHE 2ZREIS 28 S2 0f
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150,000& * 12 1,800
OzxZ2cl Hlg & =9, =ax7Y
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700,000& *42] 2,800
OMILS(XKUH 2SS, 2z d)
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OZH2IEE JI=IM Al A
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M4 S4(2s22/HK) 11,018,152 8,080,893 2,937,259
) 3,883,878
== 70,585
= 7,063,689
HSAE=E 2l & 22 8,826,212 6,136,891 2,689,321
Jl 3,600,000
< 52,000
[Ea 5,174,212
M0 E ¥ SHORE 2gae 176,220 271,720 A\95,500
307 glztol & 148,800 148,800 0
05 2ItRIE =2 148,800 148,800 0
OZSHSAIL(0FRE) 242 2HHI(1A4],
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101 @124H| 16,547 15,497 1,050
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_19_




A 2B F
¥ s SE(SL2E/HR)
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OMESAZE: &S ?et S20HAHI
8,000 x4 »100! 3,200
OMREF FLHI(EHS 3F)
250,000 25 500
O&=J| & HIGI elEH]
340,000& * 122 4,080
2AE TSNS (HANZR 840 HE o
AN, o S MA
70,0003 *57H 2-+92] 3,150
O®I|etd 2e| el === (1,262KN)
1,500, 000& 122} 18,000
OggEdt(ds2, 224)
450,000 x2J A% 123 10,800
OAgd| otEze| HEs=2(Hs2, 2
24) 517,0002 %123 6,204
OAlEdZ 3Hl &l 8Xtz
550,000 8 4,400
2 S52g4l 137,729 129,498 8,231
OZE2eMsHE & S4258 2l 87,893
-HII23 5,000,000& « 1 A+ 12 60,000
-3 (E7E) 540,000 * 122 6,480
-&ole=ERs 250,000 * 123 «20H 2 6,000
== A=z 15,0003+ 1368 2,025
-=2%3 FAH| 1,386,000 22 2,772
248 24 HIHI(SER)
1,620 8002 & 1,296
-22JI(FE5IE)E HA=2HI(ER)
1,620 8002 & 1,296
-HIAZEI] HSHI(FYR)
1,740 +370c| & 644
-HiagA)| FH|(dred, 2 )
630,000 630
-Hla2d)| =87 X4l 1,800,000& 1,800
~HEE ABPY
315,0003 204 2+53] 3,180
-gatX JIIAE HE*
900,000 *2IH A 1,800
OANEEHl /% 3,406
-SE0IFI] RFU(3H)
1,840 +1,0002| £ 1,840
-BHOIF D1 SROH(4TH)
1,740 5002 | & 870
-SAE2RI| REU 1,740 2002 &4 348
-HIE24%2)| |RFUH 1,740 x200c| E4 348
O LRI "X&el & 4|
500,000& 500
OAgrotd e 83l S| 135,000& 135
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2A:

3 iﬂtoq&g SH(23L2Z/H=)
=Rl MsAEES 22 & 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAgEE FX2=H| 900,000 900
ORAE S4BT RX244]
500,000 500
OXtgER X 2elHi(HEd) 3,520
-2z 550,000& 550
-F50 & =4l 1,840&*1,5002| &4 2,760
-NSIA & Bl RES
180,000 180
S ZAtHI 30,000 30
Odx=E RALExH] 25,300
-SE M SHE 6,0002+3,379m" 20,274
SHEESH 274 7,000 7 18m' 5,026
Oflggsdla 33,7503 x 122 405
OKTRIES! ALZ R 49,5002 x2CH* 122 1,188
O3SHSAE =2 ELAY (=Y
FiE 8) 660,000& 22 1,320
OEEANSHH & 225 AN+ 6,405
-LED® = 15,0002 +250H 375
-OIEHED] 1Kw 300,000 *9H 2,700
OIS 1K 90,0002 1574 1,350
-BIEetE Ol 1750 27,0003 *40H 1,080
-HIEBIT 1750 22,5002 40H 900
Ostya 2tel 6,257
-SIIEEMN 7 4,003+ A+ 123 530
—2BIINEH #&
3,270 «240 2+ 128 942
—=tl+ 78 1,980 x250 A+ 12 54
_E58% P
3,600 x50 A x 12 <28 2,160
~#CEIE P
BAORI 25N A+ 123 +28HE 504
-HaAS(MEM S) 225,000 =23 450
-MYDISE P (5021H)
5,300 +NFS 477
-MYDISE 2L (7521H)
6,002 100573 600
202 04l 5,040 2,490 2,550
01 =LHAHI 5,040 2,490 2,550
OMSAIE Hes et J8X As =U O
HI(2t2l) 70,0002 x4 *32 +63] 5,040
206 M=Hl 7,600 9,360 1,760
01 M=8l 7,600 9,360 A1,760
oxtlae sA7edHl(SE2sE) 4,800
e 20,0003 x20= K| *x35+22] 2,400
&= 20,0003 x20= X[+35+23] 2,400
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2A: 232 AHS U
o HSAY SH(SSHLBZ/HS)
&2l HsAE2E 2l 2 29 (SH9 H2)
2 - IE]
SN B S(B) - NIRAY - BES e HimE=
O&L ¥ Z=HL22 H22ed(sEes
) 1,600
-HIZ2(25) 7,500 *20 L x2F *23 600
-RIIEHI2(LSE])
10,0003 * 100X 1,000
OSE2SE2 A HHEE R+l
20,0002 +30& 600
(@ES=2vagel 6,000 100 600
301 LPBNF 11,539 9,354 2,185
10 AR =RRIABHS 11,539 9,34 2,185
OAMNA=RREENZ 11,539
==
(600, 0003 x2& )+(680,000& +6& )+(800,0002 *4
2) 8,480
-wEH| 3,000 x 1 2432 744
—-AlH| 8,000& x 1% 243 1,984
-1l =Hl 330,720& 331
401 A& HIZLS0HY| 27,500 15,000 12,500
01 AlEHI 27,500 15,000 12,500
OAdE RA2el L HE=
10,000,000 10,000
OZgzsd FH =23+ 88 S 72
| 2,000,000 *23| 4,000
OMSsHH =3 23J1+ &%
2,700,000& 5 13,500
NEXHSAIE 22l X3 405,800 272,504 133,2%6
201 LBr23| 46,800 36,224 10,576
01 AtR222ltl 16,000 12,000 4,000
OFEHLIAE 2X Xz
10,000,000 10,000
OFREHILIAZE |, &3, HOESE XM
2 6,000,000& 6,000
2 S=29| 30,800 24,224 6,576
OHOIEEE HIIRS
100,000 QI 2+ 123 10,800
OFEZ HOIEZSE =Rl
15,000,000& 15,000
OZgd Al 2 &H| B+
5,000,000& 5,000
307 2I2+0l ™ 6,000 5,280 720
02 QIZHBAAIEER 6,000 5,280 720
OREHUARE MOz S 2l X
3,000,000& 3,000
OAEH(SLE) 22l XA
3,000,000& 3,000
401 A& B 20HY| 353,000 231,000 122,000




2A:

St M S0

I HSNY S4(SHUDB/HS)
=Rl HSsAld=E 2l & 2E (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 Al&Hl 353,000 231,000 122,000
Oo==2 MsAIE 23017 4X
87,000,000 87,000
ObEsH? 2371+ 2= 5,000,000& 5,000
OMsAd2 HWES(HESE, &8RE )
1,000,000 *5IH 2~ 5,000
OHILIAZE, &% =3 &3 FY|
1,000,000& 1,000
ONdE2AN0IESE S EZIOEX
30,000,000 30,000
Ots™ SHH0IE=ZE AMEFHI
90,000,000& 90,000
O==H dE= HOIESE A&FH]
15,000,000 15,000
OdlExssty SZHSE JH|
50,000,000 50,000
OZ2 8¢ U= Ms2 AIE3]
70,000,000& 70,000
KNSHSAE 22X (Ex) 52,000 135,000 83,000
& 52,000
401 A& HI L S0HY| 52,000 135,000 83,000
= 52,000
01 AlEHI 52,000 135,000 83,000
Ots™ dd= HOIEEE AF
52,000,000 52,000
T 52,000
oa2sd XA & 2l 33,140 28,186 4,954
101 el t| 14,622 10,708 3,914
M I1RIMZ2Z2XsEs 14,622 10,708 3,914
Ontas=d 2te| 21FY
76,9603 x8H 10 6,157
OFZE HH Eejoley
76,9603 x5 «10 3,848
ol BB TR
192, 3703 *4H 6 4,617
201 B2 AY| 5,118 5,118
02 33244l 5,118 5,118
Oma==& A2 EH RA=ES 600
-SEWFI| S Ul =&KX Y|
150,000 *2CH*2JH 2~ 600
Oz Ald =dRX(Y| 4@ +59,450m’ 2,022
OAH=E= RAE=H| 7,000& x128m’ 8%
O0ISASIEA SAZA(FI], AdteE)
50,0003 *12& 600
O 2H =2l & 500,000 x2JH 2~ 1,000
206 =6l 13,400 12,360 1,040
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st M=

Hu: S0 S8(23TR/NS)
ol XMsEAld=E 22 & 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 13,400 12,360 1,040
O&ll & &F 2| Hlg+Y 11,800
-HI=(28) 7¢ 250,000& *4JH 2= #22] 2,000
~R0IT HIZ(LEE) P
20,0003 #4JH A +20 5 1,600
248 &0FY 4,000,000 4,000
-BHES 2+ 4,200,000 4,200
O&tll &l s+l 1,600
—&E Nl 20,0002 #4012 +x20S X 1,600
SHESEHMSAIE 22 & 29 13,256 12,932 324
201 223 13,256 12,932 324
01 AtR2t2lt] 1,080 1,080 0
Oulbl eg= 30,0002 *3 A+ 12 1,080
2 52434l 12,176 11,852 324
Os0E=SHUSAIE STZ2Y
4,0008 x764m 3,05
OsSHESEMSAE 332= 5,880
-HIIes 400,000 =123 4,800
-doteER=s 90,0002~ 12 1,080
OsHESEHSEALE 25U
1,6202+2,0002| & 3,240
CIEE dgisa 28 2 212 31,463 30,583 880
101 21A4H| 3,079 2,19 880
04 JIZtN2 2N S 2+ 3,079 2,19 880
OF 8BTY| L XM A9y
76,9602 x5 H 6 2,309
OAmRY =0l (I35
192,370 2 +2 770
307 el2tol & 24,074 24,074
05 2I2tRIE =S 24,074 24,074
OZ3ZHSAIE(AZ=Y) 2| 2|
24,074,000 24,074
401 AIEHIZ SR OHYI 4,310 4,310
01 Al&HI 4,310 4,310
OAdx=E RALExH] 5,000 »862m* 4,310
ZUMFHEH KA 2 78,044 71,453 6,591
201 er23| 78,044 71,453 6,591
01 At2tltl 14,900 13,580 1,320
OAREE FLHI(EH 38)
250,000 *23] 500
O&==J] & Hitl dEd|
400,000 * 123} 4,800
OSRIZHl AIAE 2|
300,000& x 122 3,600
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Oagrdd| erdzte| =2
350,000&* 123 4,200
O3 RANES 89|
150,000& 123 1,800
2 S=29| 63,144 57,873 5,271
OEIUNSHH 22 3323 44,880
-HIIR3 2,000,000& *12& 24,000
-4ot=ERe3d 540,000 123 6,480
“SANARS 1,200,000 =123 14,400
O28EIT X2 450,000& 450
ORAE 28I SIS
450,000& 450
OA=EE RANE=HI 11,000,000& 11,000
Ofldegssdla 12,5002 122 150
OKTRIHY! AtEZ 20,0002 128 240
OEIACMSHH SUZE S MI| XM
2l 2,000
LED BT 9| 57 7¢
50,0003 *2Z*204 2,000
OstEa 22l 3,974
-SI)IFEH 7 2,0203 <9I A+ 12 219
~ABOIMER P
1,520 +24 0 2+ 128 438
-2Hl= 7 74022500 A x 128 222
-E3&X P2
1, 30J 25 2+ 12B*25 804
~#cElE 2
660 *25J A 12F +28H = 3%
“HAAZ(MEH S) 250,000 *23] 500
-MeElISE FL(5021H)
5,3003*NF3 477
-MeEDISE 2L (7521H)
6,000 *15357 3 918
ZOH Alixs2 HE 2,230,000 300,000 1,930,000
| 800,000
= 1,430,000
401 A& B2 20HY| 2,230,000 300,000 1,930,000
J| 800,000
i 1,430,000
01 AlEHI 2,230,000 300,000 1,930,000
O&AUXs2 A 14 2,100,000,000& 2,100,000
| 800,000
= 1,300,000
O 20oI8AHX A EHAIY
130,000,000& 130,000
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SN 2SRYHS
¥ s SE(SL2E/HR)
=Rl HSsAld=E 2l & 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sl ALXELS XAAY 2,000,000 2,000,000
401 Al HIZL 201 2,000,000 2,000,000
01 Al&HI 2,000,000 2,000,000
OAL=EIR2EY 2,000,000,000& 2,000,000
58 AU+2H (RLUMSUE) AE 3,550,000 0 3,550,000
) 2,800,000
o 750,000
401 Al HIZ R 0HbI 3,550,000 0 3,550,000
Il 2,800,000
o 750,000
01 Al&HI 3,550,000 0 3,550,000
O&U=8% g 14 3,550,000,000& 3,550,000
Jl 2,800,000
s 750,000
MM & d+==4 869,656 777,426 92,230
HEEH s4 X2 247,420 241,190 6,230
201 er23| 1,620 1,620 0
01 AtR2te|HI 1,620 1,620 0
OMsiggfsds fet S2 Al
8,000 x2& »70! 1,120
OMREE FU(EY 2 38)
250,000 x25 500
202 04l 480 1,500 21,020
01 2LHoIH 480 1,500 21,020
OMSHH N3 g% =& =L 0|
20,0003 x2& » 12 480
307 @120l & 245,320 238,070 7,250
02 QItEHAEE X 103,880 119,080 A15,200
Oz H=2 HEHHE sS4
1,300,000 *30 Xl 39,000
OdEHsEUEE S &It tYZII=H X
! 300,000 20t K| 6,000
Od=HM=U=l =UHE ot HiHESA |
X X2 (Eed, 22, 5Y)
1,000,0002+35 3,000
OZHME3 =2t Te2018 ZZEA & 3
of FIHAZE) 70,0002 12 73] 5,880
OO0 (S neAE) AXX2Y SA XA (2021
=~2025 ) 20,000,000 20,000
OSZ(HnAE) AX=2Y SAXIH (2021
H-~20254) 20,000,000& 20,000
O3 S=EHA sfuMs2 & MSAIE O
242 13 10,000,000 10,000
03 LM EE2SHIEX 141,440 118,990 22,450
Oz H=2 28X 130,190




SN 2SRYHS
¥ s SE(2L2E/HR)
el MSEHHXE &2 d+-5Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AR 288l S 50,000,000 50,000
= HF2 €98 AR 22/l
500,000 x 12 6,000
-= ME3 42224 X 51,790
A= Q12H| 1,500,000& «12& 18,000
ZHAR @1 24H| 2,000,000& ~12& 24,000
A2 AEE
244, 7503 x 122 2,937
ZEAHALHEE R 196,000« 128 2,352
A2 RN
208,330 122 2,500
ZHAF BRI RE S 166,670& * 12 2,001
-= s A3 & A=A SEFIH|
800,000+ 14 23] 22,400
OF HS3l 42XANRRZ 24 25+
2 X 11,250
-HHSAH| 100,000 x2&* 122 2,400
-Sc|Z= 4yl 100,000 2«12 2,400
pani=te] 200,000 «2H 122 4,800
H2AY(NR2E)
2,500,000 x5%*22] 250
-H2E(2AH 2,000,000 «5#+22] 200
-J=Eg(6E012) 50,0008 x2& * 122 1,200
HE2SHIIR(dsEE) d+5H 622,236 536,236 86,000
201 fer= 3| 480 480 0
01 At 2|l 480 480 0
Od=g8 XA A2 &= A5 S20HA
u 8,000& 2 *30& 480
202 04l 2,100 2,100
01 2LHoIH 2,100 2,100
OHZUE &I H4E 0B 22 &8
]l 70,0002 3 * 10! 2,100
301 EtE NS 499,65 458,656 41,000
Rzt - 2SFEsS2YS 499,656 458,65 41,000
Os0 279,000
aONE=IN; 55,000,000 *1& 55,000
—H = (S-12) 50,000,000 *1& 50,000
-H=(A-12) 45,000,000 24 90,000
-H=(A23) 42,000,000 +2& 84,000
O=dtl 38,0002 x5S * 142 x 12 31,920
Otial =&l 200,000 x6H +73] 8,400
(@FSPNEI= L] 700,000 x6EH *42] 16,800
OR+d+ S| 100,000,000 100,000
O&ds=s 150,000 x6 & *62| 5,400
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2A: S2ZHSL
M HsMY S4(23pL22/HR)
=@t M= & 454 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXalz 1,000,000& *3H +33] 9,000
O=0tHE= 300,000&x 1+ 12 3,600
OXER & d= Mol BE8=
500,000 x5H 2,500
OAMNZEE 2Y= 261,000,000 *12% 31,320
Oul=+dl 150,000 *6H 2 S *43] 7,200
(OFSiaEella] 1,000,000 2= 2,000
Og=4 29| 1,956
~MEZZ(MYDISE, SEX S) P
500,000 *33! 1,500
-0 gxt= 38,0003« 1CH* 123 456
Od&d sl &0+ & 2 &9 HAI
70,0002 *8IHCH 2| 560
307 gIzHol 120,000 75,000 45,000
04 QIZHHAIAISE E X 120,000 75,000 45,000
OX=21L d&E e L dXEH 72X
120,000,000& 120,000
2E M=0s K& 591,890 569,970 21,920
T 2 014 MISEAL OHEl & FOt 494,990 486,570 8,420
202 Ot 3,990 7,170 A3,180
ETET 3,900 7,170 £3,180
OAE HSHUA SXBH V24T S 42
8 SHOEI(=22]) 70,000& 11 770
OFOfRIHSHE Bt 2%
280,000 280
OAZ SO9| MSBAF 2D} 012 9D 48
=20 HI(22]) 70,0003 *3H 2 +73] 2,940
307 212+01 A 491,000 479,400 11,600
04 QIZHHAIAIRIE & 491,000 479,400 11,600
OdetdE dMsisl ot X
135,000,000 135,000
SR 014 23 MSsUS izl & LK
& 5,000,000 »83| 40,000
Odetg s Madsisd It KA
90,000,000& 90,000
Odetd T HoHe! MSUsl EIHKIA
10,000,000 10,000
Od= Hofel 2= A=+ sl Mzl X3
5,000,000& 5,000
Odetd: HEddE=st=sd &It XIJ
10,000,000 10,000
OdetdE HelolMEM=stH=sd &It XIJ
3,000,000& 3,000
OstE&NbY Z= - 8 =302 ti20H=al X
& 20,000,000 20,000
OFEAX &= - &g HLUAMS XA
10,000,000& 10,000
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A 2B F
3 s SY(2L2E/HR)
el 23S A=l X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&= ZoHeId=tz &t N
3,000,000& 3,000
Od= =kU=l Ha X
15,000,000& 15,000
OXctd A HEM U &It X2
10,000,000 10,000
Otgzstl d=72E020H3
20,000,000& 20,000
OEZEa &l IIa=Zal izl XN
20,000,000& 20,000
Odctd® AIZE=E AOIE=USl Izl X
el 15,000,000 15,000
OXetg=ANADI HAEU2 &2 A=A
HEIX JEUE HEX
30,000,000& 30,000
Ol 8= dEH=s S0 izl X2
10,000,000& 10,000
OgEdEX Al =& HHERIEHE XI&
15,000,000 15,000
OZ&U= & dXled Rl S
30,000,000& 30,000
o H9 MSAL N 96,900 83,400 13,500
307 gl2to| & 96,900 83,400 13,500
04 QIHHAMAIH 2 £ 96,900 83,400 13,500
O2E HM=U3l =l & &It K&
21,400,000 21,400
OggzZga gyl = HOIE= U3l HAl
A& 5,000,000 5,000
O==galdtl 22 =22l HE XA
20,000,000& 20,000
Odgza)| S8UHg =202 Nzl X
5,000,000& 5,000
O83 &) dEM=s S720U32 M2
5,000,000 5,000
Oz HI=E3lZtl Hi=iagl =l X
5,000,000& 5,000
Og8&x ga&)| BH=2IElal = XA
5,000,000& 5,000
O83a&)l 22 S&t=l JHzl K&
5,000,000& 5,000
O83a &)l 2gUg =8 U A&
5,000,000& 5,000
OgEzgad)l 22 g7Uz2l =l XA
3,000,000& 3,000
OM=zl X2 & 3FESSHHM AAs
3,500,000& 3,500
OM=2 & & A=A A3E
4,000,000 4,000
Ox=ela & 10,000,000& 10,000




SN SHBTHSD
3 MsAY SE(2L2E/HR)
Chol: SINS Y MEBXS sS4 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
StuHsE & dEMs |4 730,394 596,606 133,788
Jl 283,878
== 18,585
[Ea 427,931
stui=s 54 X 57,000 57,000 0
308 XtXIEMSO0IE 57,000 57,000
08 wW=J|20Het 2 57,000 57,000
Oz sJi2s(dsd) 480 X 28,000
-1sSstu 10,000,000 10,000
-5t 1,000,0002 6 6,000
-disg 2XXH
500,000 x20H =123 12,000
Ol 22 S4¢&t0 A& 25,000
-gE=81) 2,000,000 62 12,000
=25, 80U, USSEuE l2x, 0=
2,000,000 *57H 1l 10,000
-2+=3IX =LA (HSERE)
500,000 x6& 3,000
OstuHSs AZX T2 2SS (ZA
) 40,0002 *4IH E Z+50A1 2Hx50% 4,000
HENE 2208 24 65,000 63,200 1,800
202 048l 400 600 A200
01 2L A b 400 600 A200
OdEN=s Z20d 2 22l ol
20,0002 28 x102] 400
307 212+01& 64,600 62,600 2,000
02 IHB A HE L 64,600 62,600 2,000
ouloize! 25 JAtz X2
600,000& 122 7,200
OMEH= oelol AIna 2 X
200,000 +50H 10,000
OdENx E5 29 X
300,000 xQIH =% 123 32,400
OAMitHg dexsZ20d 29(344,0
glol,0d, o 24!) 3,750,000 *45 15,000
MEHSNEA 4 XH 75,108 41,040 34,068
307 el2to| & 75,108 41,040 34,068
02 2IZHBYAIHE A 75,108 41,040 34,068
OdEMEXN=A EF 08l X2
200,000 x 12+ 122 28,800
OdEM=XN A =cl=dHl X&
100,000 x12& «12& 14,400
OMETNSNEXN 24 XA 11,868
-1 Ola ~ 10 Ojet
2,082,000 57 & +23] 1,458




2A: 232 AHS U
M HsMY S4(23pL22/HR)
Ciel BIIAIS U MEBHS SA (SHol: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-104 Ol&t 2,082, 0003 *50%+5H 23] 10,410
OMEN XA A&+ X 12,840
-1 0l ~ 24 OIgt
10,0002 x 18+ 12& 120
=34 0|2+ 20,0003 +«3H 123 720
-4 0|2t 30,0003 x 1Y« 12& 360
-7 0|2t 60,0003 x 1« 12& 720
-84 0|2t 70,0003« 1H 123 840
-114 0|2t 105,000& 19+ 12& 1,260
124 0|2t 120,000 x2Y* 12 2,880
-184 0|2t 210,000&x 14+ 122 2,520
-234 0|8t 285,000&x 1+ 123 3,420
OMBHSNEA HHS(SH) 25
100, 00024 +32* 122 3,600
OMEBSNER ¥ =@ D=2
200,000 =18 3,600
MEHSsWA 29 8,100 8,100
307 212+01™ 8,100 8,100
02 QIZtBAAIHE R 8,100 8,100
OMEHSDA ST S D) 52)
900,000 x92 &2 8,100
el MEHSX S BHXIXS (E2SK) 184,143 178,783 5,360
| 2,064
= 92,079
307 212+01 A 184,143 178,783 5,360
| 2,064
= 92,079
02 QIZtAAAIEER 184,143 178,783 5,360
Ot Met X=Xt BHXIALS 184,143
uralsl 2,544, 2002 6B 122 183,183
| 91,584
= 91,599
Ne8s B8 160,000&x6H 1A 960
| 480
= 480
H2a MEHSK A XX (2SXH) 184,143 178,783 5,360
| R,064
= 92,079
307 212+01™ 184,143 178,783 5,360
J| R,064
[ 92,079
02 QIZHA A AL E X 184,143 178,783 5,360
Ooz24l MK SAt BIXIALS 184,143
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2A:
X XH -
o e

=aak

- HyS

Ofl &F2H

MEE
Ofl &k2h

2,544, 2002 6~ 12

HJ

160,0002 x6 &+ 14

H

183, 183
91,584
91,59

960

S

M

119,700
83,790
10,773
25,137

63,750

55,950

S

M

119,700
83,790
10,773
25,137

63,750

55,950

95,0003 105H * 122

S

M

119,700

119,700
83,790
10,773
25,137

63,750

55,950

2a0l1sd X2

S

M

22,800
15,960
2,052
4,788

5,950

16,850

S

A H

22,800
15,960
2,052
4,788

5,950

16,850

95,0002 *20H <122

S

A H

22,800

22,800
15,960
2,052
4,788

5,950

16,850

HEMS X A

=4 XIA(Ex)

M

14,400
5,760
8,640

14,400

307 212+01™

M

14,400
5,760
8,640

14,400

2

s

02

=
y

O
0z
1l

ZAFAL

H
NS KSR HMAHI(S4H]) X

N

100,000 x12&12&

H

14,400

14,400
5,760

14,400
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SN 2SRYHS
M HsMY S4(23pL22/HR)
Ciel BIIAIS U MEBHS SA (SHol: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 1] 2 8,640
HHY2A AU (S22 (DIEHIIE) 51,929 45,213 6,716
ol 2| 27,709 23,393 4,316
QIHE2HHI(23IEIAE 29) 17,232 12,917 4,315
101 2124 d| 17,232 12,917 4,315
01 2= 17,232 12,917 4,315
OZAN2 522 =Y 8,111
= 11, 1303 *1H«32A1 2H+ 123 4,274
8= 9,923 x1H+32AI 2t 123 3,837
O=gllsd 5222 =% 9,121
-0 AL 11,8763 =2 *32A 2t 123 9,121
QIHA2IHI(MEAIE 29) 10,477 10,476 1
101 2124 d| 10,477 10,476 1
01 2= 10,477 10,476 1
OSZNSAE 5422 = 10,477
6= 12,3213 1H*16A| 2t 123 2,366
= 11, 130R* 12 +32A| 2H 123 4,274
-8=2 9,923 *1G+3PAI 2t 123 3,837
JlE2ad 24,220 21,820 2,400
J|1E23&H| 24,220 21,820 2,400
201 L2 | 20,020 18,220 1,800
01 A=R2teld| 20,020 18,220 1,800
OZNZE LA
50,000 *228 « 12& 13,200
OklzZ, X 2s%
20,0003 *18&5+12& 4,320
O&N2ZE ZEE EH, SAEX & 7Y
2,500,000& 2,500
203 PR =&H| 4,200 3,600 600
M EAN2IHRFA| 4,200 3,600 600
ORAN2ILRF&I
350,0002 x 11 2+ 123 4,200




